
Abbreviations 
Ch	 chain	 	 	 vsp	 very small picot		 R	 ring

Victorian Seta = 2 first half ds	 Victorian setb = 2 second half ds

RW	 reverse work	 	 Lj	 lock join


This is a continuation of the Ch on day 5

The Victorian set (once made) makes a very small drop picot which sits below the chain.  


Remember there is a vsp in between seta and setb.

Ch:	 4 Lj (vsp R10) 2 vsp 2 vsp 2 seta vsp setb 4 RW


Link to Day 5
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http://janeeborall.freeservers.com/AATIAS2023DAY5ratsshed.pdf
http://tatitandsee.blogspot.com

